EARAROBREBRT —5 XN—ZXBISH—F 201118148 (B) 1781%R3H

N AsREERLREEAHREHBAES Y5%—) BRI
[xE€] 1%&:320,000H  23&:102,000H  3#&:51,000M  43%&:38,000MH  53&:32,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= s o7 | RS 1:37.2 2-1-1-1 | 39.7| — 1 473 | JIEBASL (&3R)
‘N’ /7:'53131737\. —Y—x73 %0 ) () |LEEA
177 7 Bi—Y—XJ= ERRIS
) 6| FLSO0o0— 3 ?gu%oéém 1(:37.)3 3-3-1-2 [39.6] — | 2 | 509 gﬁgé @R
. 3/4 3y | Bl
RiISVFvY7F B:SITFIRFIVER 3 FTHh/T7—L1L
=~/ 43| FEREA 1:37.5 4-4-3-2 | 39.6| - 3 475 | SAED @R
3l8lg|723vYU—b 56.0 3/4 | BlEEE
RSTU—FA Py U—FTIN @ )\ Tx e
4l1)1lEO/IKRTUKRY 24 et 1( :37.)5 5-5-5-2 393 — | 7 | 431 ﬁﬁé @R
- Je
Qi h—EVHRILRY BINYR—ISET ®) | s
_ R 4 5 | #AK— 1:37.6 6-6-6-2 | 39.1| — 5 | 453 | NEERDE (&R)
5185 s >0 () (3 |FRsA
R:/IUTURS B:O-F U7 BHIT7—LA
= = v 9 | WPEth 1:38.3 7-7-7-9 [39.1| — 4 512 | BIgshE (&R)
62 75921—5 56.0 6 ) |EART
] RiFvonA(O0— B:FFIFIATA (-3) s 2
o 4 4 | PE3LE 1:38.3 8-8-7-8 [39.2| — 6 524 | JIARBASL (&5R)
N7 | AR %.0 F5%) g | MR
R:N—EVIv— B:ETRND—LAVD AR WBERS
== ~ 4 3 | ®FTR 1:38.4 9-9-9-7 [39.0| — 9 437 | JIFEASh (R)
8/8/9 :.:L 77|:i/ - . ¥c53.0 1/72) (-5) 'f;z—?I—ZE(IﬁJ)
RIIART—IYF— B:PvasFvOV BREM B)IBUS
9 3| T4vyFLZO B4 glga‘gxim 1:39.7 1-2-3-6 | 42.1| - 8 | 439 gtgg;ﬁ &R
: 6) _ REE
RiALYISwIE B:IAYVIVT (-4) =H T
@ 11— —‘@BIEfI
10—7+— 3,4,6,8,1,5,2,7,9
20—7F— 4,3,6,8,1,5,2,7,9
30—7— (4,6),(3,8),1,5,(2,7),9
43—F— 4,(1,5,6,8),3,9,7,2
0 ILRE
BB 4 140 JA R 4-6 1409 & 4-6 250 3EE 4-6-8 210
B B 4 100H 4-8 1104 =] 4-6 1904 3EE 4-6-8 6304
6 110 6-8 180H 5 & 4-6 240M
8 110/ BB 4-6 330

ABIC OV TRUTEREERRODDZE. THRIIZEL.



